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Background

Northcutt Bikes was a company that provides
tires, seats, chain, etc for bikes. This company
has a lacks of understanding in managing the
material management, especially in inventory.
To solve this problem, she hires Mike Alexander
to help her to minimize and solve this lacks in
the company.

Customer order was less than 80%. From
the remaining orders was back ordered.
Mike decided to started his analysis and
investigation, because he felt that he could
solve and improve the company with those
two parts, FB378 (Fender Bracket) and
GS131 (Gear Sprocket 131).

FB378 GS131

L = 3 weeks L = 6 weeks
S =35 dollars S =15 dollars
Q=120 Q =850

Price = 5 dollars Price = 10,75




Actual
Demand,

Forecast, Demand

GS131

Forecast, Demand

A\rerage demand 36.85 Average demand: 46.85
Deviation: 7.91 Deviation: 12.78




Case(s)

1. Use the available data to develop inventory
policies (order quantities and reorder points) for the
FB378 and GS131. Assume holding cost is 20% of

unit price. Be sure to state all assumptions and
justify your choices (HINT: it might be helpful to see

how your answers change, depending on the
assumptions you make).

Question

3.Do you think the lost customer sales should
be included as a cost of inventory? How
wourq such an inclusion impact the ;ererin
policies you established in question 1? 2
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FB378 ROP=dL +z|Lo} +da; - (2) GS131

L = 3 Weeks Where L - 6 WeekS
g = 3152(?0"3".8 d = The average demand per time period S = 15 dOllaI'S
.= [ = Ihe average lead ime Q = 850
Price = 5 dollars L“ v sanens Price = 10,75
H - 20% X 5 - 1 d0||aI‘S o, = The vanance of demand per time period H - 20% 10175 — 2’15

af = The variance of lead time

Z = 1,65 (95% SEI‘VICE |EVBJ)me number of standard deviations above the average demand during lead time Z = 1,65 (95% Service

o level)
There’s no deviation of lead —
: 2DS o
time. Q== =£0Q There’s no deviation of
lead time
Average demand : 36,85 —
S Average demand: 46,59
Q: 91.6 H = Annual holding cost
RoundEd Up - 92 D = Annual demand Q= 10890 rOUHdECi Up
S = Ordenng cost 109
ROP =37(3)+1.65,/3(6)+37(0) ROP = 47(6)+1.65,/6(13) +26(0)
=111+1.65/18 =282 +1.65J78
=11147 =282 +14.57
= 296.57

=118




